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2+ 9=
147 =
10+ 6 =
T+0=
9+0=
3+9=
0+0=
8+0 =
3+ 6=
347 =
345 =
440 =
10+ 1=
441=
10+ 3 =
0+7 =
T+3=
10+ 5 =
1 4+2=
0+7=

Addition up to 10 #1

21
2
3
4
5
6
7
8

) 1+4=
) T+7=
) 3+1=
) 64+6=
) T+4=
) 1+5=
) 04+10=
) 6+10=
9) 04+8=
0) 7+ 8=
1) 3+10=
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2) 6+8=
3) 2+10=
4) 5+8=
5) 4+4=
6) 8+6=
7) 10+2 =
8) 10+8=
9) 5+7=
40) 0+4 =
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Addition up to 10 #1 (Solutions)

2+9=11
1+7=8
10+6 =16
T+0=7
9+0=9
3+9=12
0+0=0
8+0=28
3+6=9
3+7=10
3+0=8
44+0=4
10+1=11
441=5
10+3=13
9+7=16
7+3=10
10+5=15
1+2=3
O+7=7
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1+4=5

T+7=14
3+1=4

6+06=12
T+4=11
1+5=6

0+10=10
6+10=16
0+8=8

7T+8=15
3+10=13
6+8=14
2+10=12
5+8=13
44+4=8

S+6=14
10+2=12
10+8 =18
b+7=12
O+4=4



